Homework 2

Saturday, January 19, 2019 10:39 AM

Lt £ ZT9T1 — 3|7 20“:] la,beZ ¥ .

fariz b) = E Zi X s an isomorphism ol Ainas

(Mow do net need fo shos that the codomain & a Sulm'na

of My(Z).)

2. Suppose A fs o untal @mmstuctive ing o charocterishe 5.,
where p is prme.  Trove Hhat, tor ang o, ge A, c«x+£= oc?.r{.

(Hfﬁ'l-. Yeu ave Q”omeJ 'l?O use L)inomio\l QX'YG.Y\S\‘OY\ Ool;l"L\OU\-lT ?rvo‘P-.

n — |
x+4) = Eo(n‘)fxa where (n\)= ‘. , Gnd (?)eZ-

i (-1

M ?I("j) & o <i<Pp and P s prime.

Deduce Hhe claim.)

5.@Find & zewm-divsor in Z _[1l=%a+bv | a,beZ:]

2V

cshere. (o+ bi) Cc+c| ) = (O\C_bcn+ (ad + b)) 1.
(Yow do net heed o sl\oco s a 'ﬂ'ha 3
® Show that X+1 has no zem in Z? :

@) Shoor it ) i ether 00 or bto in 27_, then OZ+132'4=0
m Zo.
7
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@ hoco that Z7ECI=§O\+EI |a,LeZ;z§ 1S a-Eveu
(Hik. © # azo,then a%B2 = o* (44 (£)); wse ©.
d His enw«sl«\ o shos Z_71 Ll s an cheaml domain. (ook«d 7)
@+b) (crd V=0 = (arbi)(a-bi) (c=d)=o

=) (Qa-[-Laz) (CZ—\-CLZ) =0 in 27 Use @ '170

s lr\ocJ Ct"H\-eY‘ o\—t-b r=o or c+J«‘=o ,3

. Shoes H\p\'l’ the clr\o\mc:l‘ufs%\'c o on in'\'egml doman Is
either Zevyo or r‘;r‘ivne..
. Find the chamctenshe A z 4 X Zg and  Z

GXZZX Zﬂ .
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